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A = hHh = ST B B B B B
il = R2-1 T2 TS200 TZ-701 TZ-703 T600C
- = 9,980
% NSRXENES8 ks (kA ) 15,500 15,000 15,000 15,000 20,500
S B ke 9,300 8,500 8,500 9,000 9,100 8,500
e £ A T 5,020 4,835 4,860 4,985 4,985 4,835
w | 2 8 B " 2,100 2,275 2,065 2,275 2,275 2,275
®| . .18 B C " 3.060 3,180 3,205 2,905 2,905 3,180
g =®Em % D % 2.595 2,465 2,490 2.360 2.360 2,464
i B " 3,400 3,700 3,700 3,850 3,850 3,700
2 K # £ 35 " 340 270 295 300 235 270
= |5 24 YA X BE % 1,620 14/7-20-12PR | 9-20-10PR | 14/70-20-12PR | 14/70-20-12PR(OR) | 14/70-20-12PR
i i ¥ A |18 | 550 3 4 3 3 3
% & & K24 PHA X B2 | 1,620 14/7-20-12PR | 9-20-10PR | 14/70-20-12PR | 14/70-20-12PR(OR) | 14/70-20-12PR
i ¥ A& |18 T|1.100 4 5 4 4 4
w8 » 1’ M 2,100 2.275 2,060 2.275 2,275 2.275
Bl A-—N=-5vT % 50 55 35 55 55 55
FElg e @ ¥ & " 6.3 6.7 6.7 6.3 6.3 6.7
E R B H OE 25 23 23 23 23 25
E17| 7 ¥ kmh| 0~16 0~19 0~19 0~24 0~24 0~19
RE % ¥ kmh| 0~16 0~19 0~19 0~24 0~24 0~19
| E B W ) Mom| 76/2050 | 92/1,.800 | 92/1.800 | 100/2,100 | 95.4/2,200 | 92/1.800
B = g cc 4,009 6.494 6.494 4,000 3,769 6.494
mBAEYLHBEE 0 120 95 95 100 91 95
BMKAEYHBE 680 5,000 4,500 4,000 3,500 5,000




